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parent(tom, bob).
il e daly slgle S, TBob s Tom ;5 abl el parent bxu! s
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parent(tom, bob). @ @

parent(pam, bob).

parent(tom, l1z). @ @

parent(bob, ann).

parent(bob, pat). @ @
parent(pat, jim). @
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?- parent(bob, pat).
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?- parent(liz, pat).
no
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?- parent(tom, ben).

no
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?- parent(X 11z).
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X = tom
Susl o SWS 4> Bob ol

?- parent(bob X).
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no
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?- parent(X, Y).
X =pam
Y = bob;

X =tom
Y =Dbob;

X = tom
Y = liz;
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?- parent(Y, jim), parent(X, Y).
X =bob
Y = pat
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?- parent(X, Y), parent(Y, jim).
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Clind SluS 4> Tom sla o g

?- parent(tom, X), parent(X, Y).
X =bob
Y = ann;
X =bob
Y = pat
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?- parent(X, ann), parent(X, pat).
X =bob
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parent(X ann), parent(X, pat)
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female(pam).

male(tom).

male(bob).

female(l1z).

female(pat).

female(ann).

male(jim).
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e
offspring(liz, tom).
oS o3linl JST Ol oSS 51(Y)
offspring(Y, X) :- parent(X, Y).
XL Y KT sl Y Wig X S1Y 53X aslil o
Ll
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offspring(Y, X) :- parent(X, Y).

head body
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¢l Tom ;5 L1z LT
?- offspring( liz, tom).
S g 5 (P ol 0o
Tom)LIZUpB- ;u\,wcwmw\&uY X,M\,\,Jug.x,w\uyw?
(@é«’“)vﬂfdﬁl}-d}eg)yb)b’rombbx
X=tom , Y =iz
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offspring(liz, tom) :- parent(tom, 11z)
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mother(X, Y) :- parent(X, Y), female(X).
Llys (And) ibe oS 5 slas & IS 5 Codle 56 056 45 1 5
Al o

female
parent ‘offspring  parent 'mother  parent
. grandparent

parent

grandparent(X, Z) :- parent(X, Y), parent(Y, Z).
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grandparent(X, Z) :- parent(X, Y), parent(Y, Z).

ﬁ PP g el o
grandparent(X, Z) :-
parent(X, Y),
parent(Y, Z).
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sister(X, Y) :-
parent(Z, X),
parent(Z, Y),
female(X).

?- sister(ann, pat).
yes

?- sister(X, pat).
X = ann;
X = pat

parent

female

(Sister) s a1y <oy o
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S A > ol e
sister(X, Y) :-
parent(Z, X),
parent(Z, Y),
female(X),
different(X, Y).
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i predecessor
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(predecessor) (gl abaly Cas a5

parent
parent predecessor
parent
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predecessor(X, Z) :-
parent(X, 7).

predecessor(X, Z) :-
parent(X, Y),
parent(Y, Z).

predecessor(X, Z) :-
parent(X, Y1),
parent(Y'1, Y2),
parent(Y2, Z).

predecessor akly Ca a5
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predecessor(X, Z) :-  %prl
parent(X, Z).

predecessor(X, Z) :-  %pr2
parent(X, Y),
predecessor(Y, 7).

?- predecessor(pam, X).
X = bob;
X = ann;
X = pat;
X =jim
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/* this 1s a comment */
% this 1s also a comment
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:Jle
fallible(X) :- man(X).
man(socrates).
?- fallible(socrates).
yes
ooy e

?- predecessor(tom, pat).

parent(bob, pat) = predecessor(bob, pat)
parent(tom, bob) and predecessor(bob, pat) =
predecessor(tom, pat)
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predecessor(tom, pat)
predecessor(X, Z) :- parent(X, Z).
X =tom, Z= pat
Ll Coda

parent(tom, pat)
Coda pl L OT AT w23 a5 5, 5439 asl p 3 (63,51 3 z> 05

Dad oo 33 0 o ol cpl Ly (sl azils (match) gl
Slp 683 s b S 0 85K0E0 Jyl Ooda S 4 &8 5 055
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predecessor(X, Z) :-

parent(X, Y),

predecessor(Y, 7).

L oo A assPat stOMLZL 5 X sla e |6 L
X = tom, Z = pat
= Sl 5 L Codags L predecessor(tom, pat) s el Coda O 55
LW

parent(tom, Y),
predecessor(Y, pat)

LS Lo, T iy w5 aly Coda 93 ol AT o a5 5 0 5S]
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e wly cads &KL 21, 4 parent(fom, Y) e Jsl Cods
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345 o A5 ) s 4 pas ka5 355 o0

predecessor(bob, pat)
L) 0B Jm 358 e Oleuel Predecessor Jsl 0 g6 Cods cpl els )l gl pobss
predecessor(X’, Z’) :-
parent(X’, Z’).
LT o S ) (B K5 08B pl AL e s Coda ol )
=bob, Z = pat
D o Nl g e O b s Ol
parent(bob, pat)

sed sl 55 ol Coda plply 5 a8l e sL,l LB akoliDl Coda oyl
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predecessor(tom, pat)

by rule prl ﬁ ﬁ by rule pr2

parent(tom, Y)

parent(tom, pat) predecessor(Y, pat)

no Y =bob ﬁ by fact parent(tom, bob)

predecessor(bob, pat)

ﬁ by rule prl

parent(bob, pat)

yes 30
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